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Choose the correct answer :
(a) mﬁaﬁAWanwvnofzﬂq@ N1 e

opfigs sfed 7@ e X

The amplitude of the
harmonic motions,

resultant of
each of

N-simple
amplitude A having a successive phase
difference ¢ is
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(2. )
sin(ﬂj il 0 (d) FHR e Y
(iti) 2 (iv) 2 ; Thickness of Newton’s rings.
Asin| Lo )
| Sm(QN) Asin( N?J (i) T .
‘ 2 is equal in size
(b) Wﬂaﬁwvﬁz@qw@,mmw (i) AR ACE
T @ 2 ] ) .
It increases with order number
the amplity |
doubled ﬂfe o _Of a sound wave is ' (i) FHEA 3 =R
ALmeliEhe Intensity of the sound . decreases with order number

increases by a fa

ct
(i) 2 % | (iv) SN AL AF ©OF RS FH,
first increases and then decreases
(i) 9 | - .
(¢) T R-Ry ~Rrwcs I n APRNTLS =
(fif) 4 %Qf CInE| fooqe 9.2, (S8 +/foc3d B
If the Young’s double slit experiment is
! 1 performed in a liquid of refractive index,
(iv) 6 | then the fringe width B would
| i B aehie
Lap] L R change to B
Place proposed th .
SO0 e at the propagation of 1)
Wl & () D e 23
(i) > | B
isothermal process n
(i) o change to —
adiabatic process 26-[ ’Fﬂﬁ ’?1'
(i) SToI (i) B )
isobaric process , ;l;nge toni
(iv) STSErSAE (iv) g

isochoric process remain the same
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() oo I Qe e (h) fa-fem oo
The action of : e ‘ In double-slit diffraction -
e ota_ _ is similar to a zone
; | (i) S SRS WD
() ST o= : only diffraction occurs
concave lens | (i) S ST W2
(i) T& o ‘ | only interference occurs
convex le
] 3 (i) - SRS T SR OR T
(i) ﬁmﬂ both interference and diffraction
Prism occur
(iv) SRS | (iv) S°RA S T
diffraction grating '; None of the above
: :
g)f‘?ﬁwﬁﬁqwﬁimwmzﬁﬁ |
¢losed organ pipe can produce 2. vy T fan 2x8=16
(i) =y _ Answer briefly :

odd harmonjcg

. | (@ 002 fiz REm, 110 T« IS,
(i) I 330 fiz/® s x-frre ofe T ww)
<O AP 2fSr F40 |

even harmonics

(i) T Find the equation of a wave travelling
o4 A TR along positive  x-direction having
even and odd amplitude 0-02 m, frequency 110 Hz and

(iv) @z Se i A speed 330 m/s.
no harmonics
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(c)

(@)

(e)
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g‘m AT FFT 346 Wi O FJEIR
‘SW::% e qmere A (ewe 86
MR = e Be W T R

R ome ofy
(TGS FF=o[ 73 7 |
o : o R 4 T

A tuni

Prodlrll:;g fgrk 4 of frequency 346 Hz

sounded with iy per second when

loading B w; anot.her tuning fork B. On
With a little wax, the number

of beats
PEr sec : :
the freCBJency 01? IJIBC'T; becomes 4. What is

R M o3 ey

Describe briefly e
erm .

fnnges" ‘Hajdinger’s
TGS A g
R e 2 T (>t “Ifoxs

Why is the zero-order frin

of a Lloyd’s mirror? g¢ dark in cag,

(9)

(h)

(7)

- wemé <63 crae g @ 2

What is the missing order spectrum in a
double slit diffraction pattern?

- 2O Tgeol BYF T 0
Describe briefly Fresnel-Kirchoff integral
theorem.

xS (@59 @RS BIPE gel 2

What is the effect of pressure on velocity
of sound wave?

Answer any eight :

(@) T FE Q@ ? 7S T sifS 3531 701 0

TR AT ¥ I (e oifed TReATeR
STl 4 | GRS @ e (e R @
T S (IS S O FAAIE AL
I |
What are beats? Discuss the super-
position of two collinear harmonic
oscillations differing slightly in
frequency. Show that the number of

‘beats produced per second is equal to
the difference of their frequencies.

6x8=48

1+3+2=6
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(b) FRER Ba @A ? e @ @Sl Ll : Describe how wavelength of an unknown .

T 3 A (EefS gt emefpaE SO : source be dete_rrnined W}th the help of a
e 3 cefe MG @ fp Toge TEA Fresnel’s biprlsm.. A thin shts:et .of a
13 oS 7 | i 9+4=6 transparent material of refractive index
| - is placed in the path of one (-)f _the
gzat axe Lissajous figures? Show that , interfering beams in 2 biprism

e ht & particle acted upon by two 5 experiment using sodium light of wave-

: 1 ' fringe (zero
to each other iC gopone attight sngles i length 5890A. If the central fring (

s elliptical. | order) shifts to a position originally
() RS >y | sccupied by the 12th bright fringe, then
W‘iﬂ TR @S- . & alctflate the thickness of the sheet.
ﬁm“% W APRIFCE ot | @3 sl STIofeTcd

ST AT e e, e 4 |
1+2+3=6
N tor s ¥ ol s Seivaity. of () FiTe gl IpTde TP 2SR 4 fAeo
longitudinal wayes in air OE Wi "-‘ift’;hy | g w R o A AR R
and how Laplace corrected- th:?o?mula. {9 9“1-21, SECHCA e 41 | 3+3=6
d °
K %m?% Pl e SR e . Derive an expression for'the 1-‘adius of
TR v faefy O STE S e | dark Newton’s ring. Descrfbe.bneﬂy how
o 2+4=CHa refractive index of a liquid can be

: rmined with the help of Newton’s
conditions  for. L5, 2Ves? Obtain the dete

antinodes obtaining nodes and ‘ ring.
trans S aflslstring vibrating ‘
versely and fixed at both ends \
(e) &R R-formg s ; j
wmﬁﬁf;g i M TS oot - (g) T IR IR @A 2 NS 2 ©F 341 91|
ﬁw%wﬁgﬁoﬂﬁ’aww"mm TR e PR TS e ? 2+3+1=6
I 91 R o iy i
TAS TR e frar ]
"lﬁ::w s o T 12 T gy What is a zone plate? Describe the
LTSRS 27 | i 29 <=1 ColtEm th f a zone plate. How is it similar
SR 58904 - | RARY
40 A, o@ “refE cow Frefy to a convex lens?
3+3<
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( 10 ) | ( )
. 4x2=8
(h) 429 RES FRTR womdn wgamn w0 | 4. g G B (R o ) :
AT {999 361 e qCHE SA @ | Write short notes on (any two) :
M3 2T T <y ez | 3+3=6 |

(a) T SRR A e T

Discuss Fraunhofer’

| . o waves
s diffraction at a f Energy transport by longitudinal

single  slit. Describe the intensity ; S

distribution showing that the intensity of | (b) GO

the maxima decreages with order : Melde’s experiment

number, ;

| (c) QAT e B/ (oEes AfeFea AR
| Explanation of reflection of light from
O B W o Ry oty ve |

! Huygens’ principle
ffee s MR, I = eq @ <
SRR Yoo g g a::}% 8IS | (@) 55 T aifeFme @Rl P ARTO &
g T | 3+3=6 Stokes treatment of phase change
reflection
Describe how half-period zones are
constructed on g plane wave font. Show j G
that the area of 4 half-period zone is |
independent of the order number of the
Zone,

G) @’mwm?m’mwaﬁm
ﬁ%ﬁ’zﬂ%‘wmmqﬁﬁoﬁwaﬁ?a%ﬁsmw
VR ? 2 AFE 24 A7or2nn e 2 140+3-6

What is hologram? What are the
differences between image formeqd by a
holography and a normal image? What
are the basic steps  involved in
holography?
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